0(0 @) (rad)

102

3 -2 -1 0 1 2 3
TP n (PCA to beamline)

H
S
o

a(d cot(d))

1072

0.95

3 -2 -1 0 1 2 3
TP n (PCA to beamline)

—=— DQM_V0001_R000000001__Global__mkFit_1kstable
—— DQM_V0001_R000000001__Global__mkFit_CANDIkstable

SICEWATL

=3 -2 -1 0 1 2 3
TP n (PCA to beamline)

~ 1 -
o N
e

o

o

o

o}

107}

23722 -1 0 12 3
TP n (PCA to beamline)

T
£ T
S
gN
)
o]

107}
010\-Jg,....|....|....i....|....i....
2107 ;
hd [

| R "W P ¥ I
0983 =1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


